'Hawa [[21%) 100 GM

Fitting for top-running glass doors up to 100 kg (220 Ibs.), with surface mounted
running track or running track flush with the ceiling. Optionally with soft and
self closing mechanism. Ceiling mounting. Minimal installation height.

i S
Product highlights
ghlig \\/

Aesthetics Variable design panels for individual look

M Productivity No glass processing thanks to clamping shoe
connection

Technical specifications

[ Max. 100 kg (220 Ibs.)
$H Max. 2700 mm (8'10 5/16")

£2  Max. 1600 mm (5'3") | —
/ \

[« 8-12.7 mm (5/16" to 1/2")

/
Installation examples
30
o 05x40 30
16
1%" * mit Montagedffnung
05 1 with assembly opening 66)_ 11
N 7 avec ouverture de montage 19y 7
i 32/ |16
oy @ T o @ ¥ : @I 0 OO
[—lco [—Iico | - - —
N ! ) > 5 Pz N
7
N %
= i
=
: 80 *(135) 80
il LT % o %
| ! } |
I 2 B g e o 21|18 124 124 * 73]l
% 5|E 2 5| £ |23 it e ey 2%
| 52 | ‘En% 32 32 8 8 8/ 32 32
8 2 3 8 3 &
ge o oe 4 15-¢ :
3| B B W _5u S5u
3 sle 1‘30 &l s 32 TB-3% b
2 2
@(8-127) - @(8-127) .
5u_1u S5u_Tu
@G5 -2") @ (55" -2") ( )
50
31
15
@ @) ~ oy . @ @B <oy . 4 :,\_%
<ol (oo _—-—”
5[\ 04 5[ 04
B pE?
8 8

Subject to technical modifications. Metric specifications are exact. Inches are approximate. 455



'Hawa [[1%) 100 GM

Set for ceiling mounting,
for 1 glass door up to 100 kg (220 Ibs.)

No.

Running tracks

Hawa Porta 100 G/GU/GM/GF, for 1 door

057.3074.071

mm
(inch) No.
1,700 057.3016.170
(5' 6 15/16")
2,000 057.3016.200
(6'63/4")
/ Runnllng track, . 2,500 057.3016.250
aluminum, pre-drilled | ('27/16")
6,000 057.3016.600
(19' 8 7/32")
cutto | 557.3016.990
size
2,000 057.3016.201
(6'63/4")
2,500
/ Running track, @27nen | 0°7-3016.251
aluminum, anodized,
pre-drilled 6.000 | 457 3016.601
(19' 8 7/32")
cutto | 457.3016.991
size
Running track, with 2,500 057.3016.256
assembly opening, (8'27118")
aluminum, anodized, cut to
pre-drilled size 057.3016.998
2,500 27668
(8'27/16")
Running track, 3,500 27667
V ceiling integration, (11'525/32")
aluminum, anodized, 6,000
pre-drilled (19' 8 7/32") 30326
cutto 27669
size
Disposable cover to 2,000 057.3098.001
running track Hawa (66347
Porta 45/60/100, cut to
plastic, black size 057.3098.990

~
Q
g No.
@
5
Set consisting of: o
Running gear, ba_II bearing, 5 | 057.3114.071
rollers plastic white
Sto'pper, WIﬂ"I retention 1 | 057.3073.072
spring, plastic, gray
Sto.pper, W|thout retention 1 | 057.3073.071
spring, plastic, gray
Suspension bolt, M8x32 mm
(5/16"x1 1/4"), 2 | 057.0123.104
steel, zinc-plated
Hexagon locking nut, M8,
>
(=2 steel, zinc-plated 2 | 768.9005.101
Clamping shoe, aluminum,
glass thickness 8-12.7 mm 2 | 057.3032.075
(5/16"-1/2")
Hexqgon screw, M6x20 mm, > | 762.9480.000
plastic, white
S Hexagon jam nut, M6,
@—/ steel, zinc-plated 2 | 768.2001.101
/l Bottom guide, playfree
%ff adjustable, chrome-plated, 1 | 057.3030.071
& matt
Wall buffer, 19x10 mm
(3/4"x13/32"), rubber, black | | | 024:0002.046
Countersunk head screw,
‘z}g@% 4x20 mm (5/32"x25/32"), 3 | 766.5042.120

steel, zinc-plated

456

Subject to technical modifications. Metric specifications are exact. Inches are approximate.




Assembly set

No.

End cap set

'Hawa [[21%) 100 GM

No.

Assembly set Hawa Porta 60/100,
2000 mm (6' 6 3/4")

057.3179.200

End cap for panels

057.3061.072

Assembly set Hawa Porta 60/100, q
2500 mm (8' 2 7/16") 057.3179.250 5
o No.
Assembly set Hawa Porta 60/100, Q
3000 mm (9' 10 1/8") 057.3179.300 2
Set consisting of: o
S|3|8
N || ® End cap, left for panel,
IR No. W plastique, anthracite 2 | 057.3059.001
®| ™| ®
g |l
Set consisting of: (inch) oo |o End it |
; nd cap, right for panel,
Running plastique, anthracite 2 | 057.3059.002
track, 2000
aluminum, © ’63/4 ) 1 057.3174.200 P
anodized 7 )
L End cap holder, plastic,
pre-drilled anthracite 2 | 057.0141.001
Assembly pin,
. 9 |11]13| 057.0201.001
plastic, gray % Clip to panel, plastic, gray 4 | 057.3060.001
Countersunk head Head cap screw, M5x18 mm
screw, 5x40 mm 10|12 14| 766.3054.140 &E&v (3/16"x23/32"), 8 | 600.0000.661
(3/16"x1 9/16"), steel, zinc-plated
steel, zinc-plated
Running Head cap screw, M5x20 mm
track, 5 %@% (3/16"x25/32"), 8 | 763.0508.120
aluminum, | 2200 1 057.3174.250 steel, zinc-plated
) (8'27/16")
anodized,
pre-drilled
Running Soft close o . . _ _
track, For soft closing in opening and closing direction
aluminum, 3,000 1 | 057.3174.300 order 2 sets.
; ©'101/8")
anodized,
pre-drilled No.
Soft close Hawa Porta 100, Divido 100,
Panels 61-100 kg (133-220 Ibs.), 1 piece 042.3102.071
Soft close Hawa Porta 60/100, Divido 100,
mm 10-60 kg (22-132 Ibs.), 1 piece 042.3102.072
(inch) No.
2,500 | 457 3039.250 = A
(82 7/16") S|o
Clip-on panel, for 6.000 g % No.
clamping shoe, ’ 057.3039.600 ™| ®
: . (19'8 7/32") ) | @
aluminum, anodized Set sti ; || &
et consisting of: o|o
ot | 057.3039.990 9

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

Soft close, top running,
61-100 kg (133 to 1
220 Ibs.), plastic

042.3106.071

Trigger for soft close

in buildings, zinc die 1|1 | 042.3105.001
casting
%@g@ Screw set soft close 1] 1 |600.0000.566

Soft close, top running,
10-60 kg (22 to 132 Ibs.),
plastic

042.3106.072

457




'Hawa [[1%) 100 GM

Cover for assembly opening Track installation Pocket
No.
Cover cap to assembly opening, 1-piece set 042.3114.071 [
S @
S
§ No. v
[sp)
N 9
Set consisting of: S =
S<D-13l
’ | Cover cap assembly
\/ opening, plastic, gray 1 | 042.0172.001
f?.%@% Screw set soft close 1 1600.0000.566
Accessories Bottom door stopper
Einbauvariante
No. Mounting version
Variante de montage
Bottom door stopper, with 20773
centering, chrome-plated, matt
045x20
Routing jig for assembly
% opening 042.3118.071
>
% Groove cutter to routing jig,
~"—, | &= 10 mm (13/32"), hard metal | 600-0000.309
% Track cleaner, plastic, blue 057.3099.071

458 Subject to technical modifications. Metric specifications are exact. Inches are approximate.



'Hawa [[21%) 100 GM

Ceiling integration
Recommendation: For systems integrated into the ceiling,
provide assembly openings or front access to the system.

8u Abdeckung Montagedffnung bauseitig
3" Cover assembly opening on site 672
Cache ouverture de montage sur site 275"
3 = ey AR
05 E;I ws oM e
]
e i e
H
o -
5|k
+H1 3 e
-13 ey :|':
I 135
ele 5
S| 555"
7|_|7 .5z T i
9. [™o- MK % g 124 773 :
. oo 7 7 n
Kl [ Y EE 4% % 32
[GI{G)
D
$113O Abdeckung Montagedffnung bauseitig
% Cover assembly opening on site 66
®(8-127) Cache ouverture de montage sur site SR
32
QE - o o
X
\ SEEN SRS
8|k
O
B <oy ) 672
~[olSy ok
35 .04
ik
Soft close
7=
190
o —O 1 9 =13 Ve
=2535
* B o | 1l 2 o | 1|0 Z-= ok
Hawa Porta 60/100 HHC 168 [1od |11l | 24 | 268 |20k 5 *
= Montagedffnung
Hawa Porta 60/100 HWHMDMMT | 1'623" | 1" 9" | 11114 | 2143 | 268" | 2/ 9" ; ) assembly opening
" | 2 ouverture de montage
Hawa Porta 100 G/GU/GM/GMT | 1'633" | 1 97" [1' 114" | 243 | 265" | 2/ 93" * o |1 |20 1] 2 =
Hawa Porta 100 GF 1 6%" 2' 4%" Hawa Porta 60/100 H/HC 480 | 535 | 590 | 730 | 785 | 840
S o ] % 3 Hawa Porta 60/100 HM/HMD/HMT | 480 | 535 | 590 | 730 | 785 | 840
Hawa Porta 100 GW/GWF V83" | 9" | 1M | 26" 265" | 2'746" | [ awa Porta 100 6/GWEM/GMT | 480 | 535 | 590 | 730 | 785 | 840
Hawa Porta 100 GMD 17 1rekt | 11 |2 sgke | 274k | 217 | | Hawa Porta 100 GF 480 730
Hawa Porta 100 GW/GWF 512 [ 542 | 590 | 762 | 792 | 840
Hawa Divido 100 H/HM/GR 1 6%" 1 9%.. 11 | o 4%\. P 6%%" P 332‘. Hawa Porta 100 GMD 488 [ 539 | 590 | 738 | 789 | 840
— —s o T oo Toos. 15| | Hawa Divido 100 HHM/GR 480 | 535 | 590 | 730 | 785 | 840
Havia Divido 100 GRM 8" |11105"| 10" | 26" | 2'855" |2'1055" | [yaa Divido 100 GRM 512 | 567 | 622 | 762 | 817 | 872

A BT - OIC

Beidseitig gedampfte Ausfiihrungen ohne stirn-
seitigen Zugang erfordern zwei Montagedffnungen.|
Versions with soft closing mechanism at both
sides without access from the leading edge
require two assembly openings

Les versions avec amortissement bilatéral sans
acces frontal exigent deux ouvertures de montage.

Accessories Planning/execution
— Lock solutions from page 511 Further information about the product can be found
— General accessories from page 518 on www.hawa.com.

— Glass recommendations from page 536

Subject to technical modifications. Metric specifications are exact. Inches are approximate. 459



